
MATHS

BOOKS - RS AGGARWAL MATHS

(HINGLISH)

SIMPLIFICATION

Example

1. Simplify : 18 − 6 ÷ 2 × 3

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_SbeMA1D7ylSO


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

8

9

10

11

2. Simplify : 

Watch Video Solution

15 + 24 ÷ 3 − 1 × 6

https://dl.doubtnut.com/l/_SbeMA1D7ylSO
https://dl.doubtnut.com/l/_2WX3nTcMqotx


3. Simplify :

A. 6

B. 7

C. 8

D. 9

Answer: B

Watch Video Solution

16 − [11 − {8 ÷ (17 + 3 × 2 − 19)}]

https://dl.doubtnut.com/l/_2WX3nTcMqotx
https://dl.doubtnut.com/l/_AfSswnfCyiEb
https://dl.doubtnut.com/l/_3LSSzaF6xhWA


4. Simplify : 

Watch Video Solution

14 − [12 − {9 − (7 − ¯̄¯̄¯̄¯̄¯6 − 2)}]

5. Simplify :  of 

Watch Video Solution

5
1

2
( − ) + +

2

3

3

5

1

2

5

11

6. Simplify:


.

Watch Video Solution

[3 ÷ {1 − (2 − − )}]
1

4

1

4

1

2

1

2

1

4

1

6

https://dl.doubtnut.com/l/_3LSSzaF6xhWA
https://dl.doubtnut.com/l/_IjxkC06msqcT
https://dl.doubtnut.com/l/_sdggwSvU3aQ9


Exercise 6 A

7. Find   

Watch Video Solution

(i)√36 (ii)√49 (iii)√64

1. 

Watch Video Solution

21 − 12 ÷ 3 × 2

https://dl.doubtnut.com/l/_sdggwSvU3aQ9
https://dl.doubtnut.com/l/_jyAlLrErMG43
https://dl.doubtnut.com/l/_NXMff4cuNEoR


2. 

Watch Video Solution

16 + 8 ÷ 4 − 2 × 3

3. 

Watch Video Solution

13 − (12 − 6 ÷ 3)

4. 

Watch Video Solution

19 − [4 + {16 − (12 − 2)}]

https://dl.doubtnut.com/l/_iv5uNeHZYryZ
https://dl.doubtnut.com/l/_puyo3RgdFhJN
https://dl.doubtnut.com/l/_D1pCZCv3fFWB


5. 

Watch Video Solution

36 − [18 − {14 − (15 − 4 ÷ 2 × 2)}]

6. Simplify 

A. 

B. 

C. 

D. 

27 − [18 − {16 − (5 − 4 − 1)}]

28

13

22

23

https://dl.doubtnut.com/l/_YNI7JeTcnoEN
https://dl.doubtnut.com/l/_l3LHH9Bzroug


Answer: D

Watch Video Solution

7. 

Watch Video Solution

4 ÷ of 5 + × −
4
5

3

5
4
5

3

10

1

5

8. 

Watch Video Solution

( + )  of + 1 × 1 −
2

3
4
9

3

5

2

3

1

4

1

3

https://dl.doubtnut.com/l/_l3LHH9Bzroug
https://dl.doubtnut.com/l/_l41J2Z4DpbyG
https://dl.doubtnut.com/l/_Tinb2apTLrJj
https://dl.doubtnut.com/l/_MmSnILe9vIZR


9. 

Watch Video Solution

7 ÷  of 2 + 1 ÷ 2 − 1
1

3

2

3

1

5

3

8

3

4

1

2

10. 

Watch Video Solution

5 − {3 ÷ (2 − )}
1

7

3

10

4

5

7

10

11. 

Watch Video Solution

9 ÷ [2 + {4 − (1 + 1 )}]
3

4

1

6

1

3

1

2

3

4

https://dl.doubtnut.com/l/_MmSnILe9vIZR
https://dl.doubtnut.com/l/_GsSNVoSe6Oq1
https://dl.doubtnut.com/l/_xNfNyfOTCDo7
https://dl.doubtnut.com/l/_yre0V2GMPSCv


12. 

Watch Video Solution

4 − [2 − { − ( + − )}]
1

10

1
2

5

6

2

5

3

10

4

15

13. 

Watch Video Solution

1 + [2 − {3 (3 ÷ 9 )}]
5

6

2

3

3

4

4

5

1
2

14. 

Watch Video Solution

4 ÷ {2 − (1 − (
¯̄¯̄¯̄¯̄¯̄¯̄

− ))}
4

5

1

5

1

2

1

4

1

4

1

5

https://dl.doubtnut.com/l/_yre0V2GMPSCv
https://dl.doubtnut.com/l/_qHRUWLubQ71d
https://dl.doubtnut.com/l/_oW1xM3may0IR


Exercise 6 B

15. 

Watch Video Solution

7 − [2 ÷ {1 − ( −
¯̄¯̄¯̄¯̄¯̄¯̄

− )}]
1

2

1

4

1

4

1

2

3

2

1

3

1

6

1. ?

A. 

8 + 4 ÷ 2 × 5 =

30

https://dl.doubtnut.com/l/_oW1xM3may0IR
https://dl.doubtnut.com/l/_ezwEKHxCjwaZ
https://dl.doubtnut.com/l/_pXHr3ZqlQK4X


B. 

C. 

D. none of these

Answer: C

Watch Video Solution

50

18

2.  of  ?

A. 

B. 

54 ÷ 3 6 + 9 =

117

12

https://dl.doubtnut.com/l/_pXHr3ZqlQK4X
https://dl.doubtnut.com/l/_VajezVCqyQkN


C. 

D. none of these

Answer: B

Watch Video Solution

6

5

3. ?

A. 

B. 

C. 

13 − (12 − 6 ÷ 3) =

11

3

7
3

https://dl.doubtnut.com/l/_VajezVCqyQkN
https://dl.doubtnut.com/l/_rV6Z9mPkjlHY


D. none of these

Answer: B

Watch Video Solution

4.  of  ?

A. 

B. 

C. 

D. none of these

1001 ÷ 11 13 =

7

1183

847

https://dl.doubtnut.com/l/_rV6Z9mPkjlHY
https://dl.doubtnut.com/l/_OUwW0KMsceVo


Answer: A

Watch Video Solution

5.  ?

A. 

B. 

C. 

D. none of these

Answer: B

133 + 28 ÷ 7 − 8 × 2 =

7

121

30

https://dl.doubtnut.com/l/_OUwW0KMsceVo
https://dl.doubtnut.com/l/_Pf2dYb02tlMa


Watch Video Solution

6. 

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

3640 − 14 ÷ 7 × 2 = ?

3636

1036

1819

https://dl.doubtnut.com/l/_Pf2dYb02tlMa
https://dl.doubtnut.com/l/_bnbuqaROsttE


7. ?

A. 

B. 

C. none of these

D. 

Answer: B

Watch Video Solution

100 × 10 − 100 + 2000 ÷ 100 =

29

920

https://dl.doubtnut.com/l/_bnbuqaROsttE
https://dl.doubtnut.com/l/_gVcFuJgdCy3W


8. ?

A. 

B. 13

C. 23

D. none of these

Answer: B

Watch Video Solution

17 − [18 − {16 − (5 − ¯̄¯̄¯̄¯̄¯4 − 1)] =

25

https://dl.doubtnut.com/l/_PL0UGvE2wPQT


9.  ?

A. 

B. 

C. 39

D. none of these

Answer: A

Watch Video Solution

32 − [48 ÷ {36 − (27 − ¯̄¯̄¯̄¯̄¯̄¯16 − 9)}] =

29

520

17

https://dl.doubtnut.com/l/_WnEowwzanr5D


Test Paper 6

10.  ?

A. 

B. 

C. -6

D. none of these

Answer: A

Watch Video Solution

8 − [28 ÷ {34 − (36 − 18 ÷ 9 × 8)}] =

6

6
4
9

https://dl.doubtnut.com/l/_F8hVsF7RbSiW


1. 

Watch Video Solution

−16 − [11 + {8 − 6(6 − ¯̄¯̄¯̄¯̄¯4 − 2)}]

2. 

Watch Video Solution

16 + 8 ÷ 4 − 2 × 3

3. 

A. 

36 − [18 − {14 − (15 − 4 ÷ 2 × 2)}]

20

https://dl.doubtnut.com/l/_mf7FlE2kXSpy
https://dl.doubtnut.com/l/_5Z7DCwulurpf
https://dl.doubtnut.com/l/_DcRt44fmxn8k


B. 

C. 

D. 

Answer: C

Watch Video Solution

19

21

23

4. 

A. 

B. 

15 + 5 ÷ 5 × 2 = ?

8

2

https://dl.doubtnut.com/l/_DcRt44fmxn8k
https://dl.doubtnut.com/l/_sN3Mhn8O8xU3


C. 

D. none of these

Answer: C

Watch Video Solution

17

5. 

A. 

B. 

C. 

16 − 2 ÷ 7 + 6 × 2 = ?

16

14

27
5

7

https://dl.doubtnut.com/l/_sN3Mhn8O8xU3
https://dl.doubtnut.com/l/_5jr0XatffNLk


D. none of these

Answer: C

Watch Video Solution

6.  of  ?

A. 

B. 

C. 

D. none of these

54 ÷ 3 6 + 9 =

117

12

6

5

https://dl.doubtnut.com/l/_5jr0XatffNLk
https://dl.doubtnut.com/l/_CYQQFGCNXn9c


Exercise

Answer: B

Watch Video Solution

1. Avani has a number of Rs. 1 and Rs. 2 coins in

her purse. If the number of Rs. 2 coins is

double the number of Rs. 1 coinsand total

amount is Rs. 65. Find the number of Rs.1 and

Rs. 2 coins each.

Watch Video Solution

https://dl.doubtnut.com/l/_CYQQFGCNXn9c
https://dl.doubtnut.com/l/_4og8QoJtvMnP


2. Bharti has a number of Rs. 2 and Rs. 5 coins

in her purse. Ig the number of Rs. 2 coins is

double the number of Rs. 5 coins an total

amount is Rs. 144. Find the number of Rs. 2

and Rs. 5 coins each.

Watch Video Solution

https://dl.doubtnut.com/l/_4og8QoJtvMnP
https://dl.doubtnut.com/l/_6ji9UA3bgaVv

